490826

O—RING

268-041672

SCREW — #10 x 5/8 TH

490400

DRAIN PAN FOR V242-02L

272-080680 |
272-041671

SCREW — #8 x 3/8 PH

SCREW — #10 x 1.50 AB CR

328-080499

POLY SHEET

1.9 FT.

290-080863

TRANSFER TAPE

3.8 FT.

330-041201

10-PAK CARTON (NOT SHOWN

330-041200

SINGLE PAK CARTON (NOT_SHOWN)

alelalelelelslslzlelelels

329-080623

POLY BAG _(NOT SHOWN)

(%)
N

(=]
-

491011

8

OUTER FRAVE ASSEMBLY - (WATTE BACK] 1

N
w

&

491018

OUTER _FRAME INSERT

N
~

V242-89 R

REGULATOR; MODIFIED ELECTRIC

26 | 491300

SUPPORT BAR

25 | 491019

ROLL—-UP_GLASS ASSEMBLY

24 | 490404

MULLION RAIL

[N NN JEN N N

22 | 491015

RETANER FRAME ASSEMBLY (MATTE BLAC!

21 | 292-040595

PLASTIC LABEL COVER

20 | 491005

STATIONARY GLASS

19 | 490664

WEATHERSTRIP_BELT

18 | 491010

GLAZING VINYL ASSEMBLY

17 | V061-62

BOTTOM_BRACKET

= l=l=]=-]-]-

15 | 333-041220

PALLET _(NOT_SHOWN)

14 ] 301-011791

ADHESIVE — 3M §4799

15 REQD)

13 | 292-040594

SERIAL NUMBER LABEL

—

12 | 490757

PATENT LABEL (LOCATION)

-

10 | 272-040643

SCREW - ﬁ x 1 BUILDING BUCK

9 | 272-040582
272-031085

SCREW — #8-32 x 3/8 PH TAPT|

SCREW — #6 x 1/4 PH

262-080385

SCREW - 1/4-20 x 5/8 PH

250-080392

WASHER — GLASS CHANNEL

232080376
Vi23-42

490716 |

WHIZ NUT 1/4-20

WEATHERSTRIP — FUZZY

WINDOW REGULATOR BRACKET

=N N[ o

2.25 FI.

122-016543

RUN_CHANNEL

9.92 FT.

274-040492

SCREW — #8 x 18 x 1 SELF DRI

@

= l—INvule|loloN o

e Mi PART NUMBER

DESCRIPTION

QTY.

28.75

A—LINE

o

- -N--------—---—---——---—-——-————-—-—=—---

AN NN l

D %E

62.08 REF.
A—LINE

(4
27.25
REF.

25.03"+1"/-0"

APPLY POLY SHEET
328-080499
IN THIS AREA.
TUCK SHEET INTO
DRAIN PAN
SECURE SHEET TO
DOOR FRAME
WITH 290-080863 TAPE

b6

DIVD :

17) (13(12)(29)

SUT POLY SHEET
AND PULL REGULATOR
WIRES THROUGH.

NOTES :

29.33
OVERALL WIDTH OF DRAIN PAN

1) INSIDE VIEW, LEFT HAND SHOWN.
2) MUST COMPLY WITH ALL APPLICABLE SECTIONS OF FMVSS 205 & FMVSS 206.

SECTION A - A

S111177s k\\\\\\\\\\\\\\“
I

VY
ZANNNRNNNNNNNNNNNN

{ B

VL
SSSSISTSS

i Ty

SCALE : FULL

SECTION C - C
SCALE :

FULL

SECTION D - D

SCALE : FULL
/
/

/ (40

e

\
\
=.\
/

DETAIL
SCALE: FULL

)/

DETAIL
SCALE: FULL

A1 | EC13941

122-016543 WAS 122-010850 JWDMS]

4/15/10)

AS RELEASED|FA

DK

12/

AS DRANN GE

2/10/05

[ = IDENTIFIES SIGNIFICANT |9, 2 4,6 8

CHARACTERISTICS

ZONE | E.C. NO.

THHE

DESCRIPTION OF CHANGE BY

APPR.

DATE

DRAWN BY:  GE

oo e o |

Atwood Mobile Products

LaGrange Operations) LaGrange, In.
Elikhart Operations; Elkhart, In

2

| 3 | 4

6 |




